EOC Practice Questions

Hour:

Name: ANSWOY K-Elj

) What is the best definition of a scientific theory?
A.JAn explanation of how and why a natural
phenomenon behaves the way it does

B. A description of an invariable relationship that
exists in nature

C. A speculation or guess about how nature works
D. An unproven fact

Which of the following best describes the level of
bio!or?ical organization that includes assemblages
of different groups of species living within 2 defined
area?
A. Organism
B. Population

Community
D. Family

Chan wants lo determine how much the mass of
fungus growing on a nutrient agar plate changes
over an 8 hr period. What is the most appropriate
unit of measure for him to use?

A. Kilogram

B. Kilometer

@ Milligram

D. Millimeter

] Pa‘oain, an enzyme In rapaya. breaks down
polymers composed of amine acids. Which of the
following substances does papain break down?
A. Carbohydrates
B. Fatty acids
C. Nucleic acids

Proteins
What is the maximum number of covalent bonds.

that can form between a single carbon atom and 1
or more hydrogen atoms?

A1 Carpbon-VE # 4
B.2 Iv-"l

c.3

- S

Lead (Pb-208) Is the neaviesll-s?abla isolope
known. It has an atomic number of 82. How many
neutrons doas Pb-208 have?

B WB-22:=120
C.16a Atomic  Adpmic
D. 208 Mass ~ H

Which of the following chemical formulas
represents an organic molecule?

A, H0 *m“s+

B, AgNO, ai

C,) CraH220141 Contain

D. CuSOyH,0 carbon ( <)

10) As part of an expeniment, a student adds 10 mL of
5% hydrochloric acid solution to 100 mL of a non-
buffered, colorless solution of sugar. VWhat is the

most likely result? ACld - H.]- ‘Increase

#8) The students used correct lab praclice when
nanding samples of pond water Which practice 13
NOT an example of correct lab practice?

A, Wearnng disposatle glaves
Discarding samples down the drain

T Disinfecting the lab countertop before and after
esch lab session
D. Washing hands befare and after each lab

3 : E session
A. The concentration of hydroxide ions (OH™) will
Increasq. Mrs. Lewis sed up a lab for her biology Daphnia. The students will observe the
e concenlration of hydrogen ions (H ') will students using a cuftre of the small crustacean’s hearibeat under e
increase, crustacean Daphnia. obtaned from 3 pond microscope, # different lemperatures, and

that was 20°C. The students are to
investigate the effect lemperature has on

C. The pH will not change.
D. The pH will increase.

11) Which of the following solutions has the greatest
concentration of hydroxide ions (OH™) ?

@Urine (pH60) =2 €Ven +though

" Rainwaler (pH 5.5) i+ is an ad”
C. Tomalo juice (pH 4.0} 14 has e
D. Gastric juice (pH 2.0} |Aj ‘ah es+ PH* So

18&) During aerobic cellular respiration, in which of the nmost
folk g locations do ATP mol form? basic
A. Cylosol only

(B)Mitochendrial matrix only (]'ﬂst de mitodaundvio (&)

C. Mitechondrial matrix and outer mitochondrial
membrane only

D. Cytosol, mitochondrial matrix, and outer
mitochondrial membrane only

19) In biology class, Keesha places a suspension of the
green algae Chiorella in a growth chamber. She
turns the light on in the growth chamber, then
measures the change in the amount of COz in The
growth chamber over the next 15 minutes. She then
repeats the experimeni, using a growth chamber
that is devoid of light. She finds that the amount of
CO; in the lighted growth chamber decreases over
time, while the amount of CO; in the dark growth
chamber Increases over time. The mos! likely
explanation for her results is that, in the absence of
light, COz:

A. plion by phal. thesis is greater than
CO; production by cellular respl .

B. consumption by cellular respiration is greater
than CO; production by photosynthesis.

€. production by photesynihesis is greater than
C 0 consumption by cellular respiration

‘D,:,. tion by cellular respiration is greater than
oy phion by p y i

20) A sclentist studies the effects that barnyard grass,
a weed, has on the growth of rice, other weeds,
and insects The barnyard grass and other weeds,
rice, and insects make up which level of biological
organization?

A, population = BNty | 5?:(...‘!8.5-
cornfnunll\r
€. ecosystem 3 ynclude 1jving [nonl ving
D. biome Ye 3'“)“5 O"' “Me
wWorid wWith similar
tlimate, aninals, ¢
plants

counl the number of heartbeats par e

29) I the experiment is designed correctly, what will the
students choose for the experimental treatment?

. Placing 5 identical cultures of Daphnia at 20°C
Placing each ol 5 identical cultures of Daphnia
at a different temperature

C. Placing 5 cultures, each with a different type of
crustacean, at 20°C

D. Placing 5 cullures, each with a different type of
crustacean, sl a different temperature

30) What is the independent variable in this
experiment?

i - : ®
Temperature of the samples =7  VAVES + gﬂ"'l 'I"IQ L

on Dgphnia

B. Number of heartbeats/sec
€. Number of Daphnia in the cultures
D. Type of microscope used

34) A hameowner needs o find the surface area of her
pond in order 1o apply the correct amount of aquatic
Ieid would be

L A und of
correct and the most efficient fo use?
A. Cubic milliiiters volu ne
S e
¢, Square militers = @150 NMOPIUYN €
quare melels

L unit for surfale arec

35) A scientific theory i3 based on expermental results
that satrsly which criteron?

They can be replicated by others.
B. Their significance is supported by expetrts,
C. They are absolste and cannot be challenged
0. They are | with i

36} Ming velunieers for a study lo determine whether a
cartain medication halps people slaep Voluntesrs
are assigned to 1 of 2 groups Volunleers in
Group 1 are given the medication, and voluntesrs
in Group 2 are given a placebo. Which of the
following sleps is necessary to ensure the scientific
validity of the results?

e issigning the subjects to each group at random
B. Assigning all of the subjects with sleeping
probiems to the placeba group
C. Telling subjecls if they are recaiving the
medicine or the placel
D. Placing 100 volunteers in Grovp 1 and 10
volunteers in Group 2

L TR AL R 110 L ¥ I AT i 1
leukernia viius. Accarding to cell theary, are
wiruses, such as feline leukemia, considered living
things?

A. Yes, because they can reproduce.

B. Yes, because they are composed of cells

C. Mo, because they cannol adapt 1o their
environment.

o, because they are not composed of cells

48) Which is the best example of a population? .
~. 45
A. All the insecls in Morth America 2 B P ecl

II the white-tailed deer on an island
. A

Il the bacteria in a person’s digestive fract

D. All the single-celled creatures in a sample of
pond water

51)What is the correct order of organization of all living
things from simplest to most complex?

A. Atom, cell, organ, organelle. organ system,
organism, molecule, lissue

torn. molecube, organelle, cell, issue, organ,
organ syslem, organism

C. Atom, molecute cell, tissue, organelie, organ
organism, organ system

D. Crganelle, atom, molecule cell, Lissue, organ,
oigan sysiem, organism

54) All members of which of the following groups
require a host cell to reproduce?
A. Fungl
B. Bacteria
C. Prohsts

Vituses
57) Which group(s) contain organisms thal can be

classified as primary producers?
*Bad 1
A. Monerans only

B. Protists only Moheray 1S
anerans and protists —W\mw Nno u-.-
. Viruses and monerans .ln ‘q_r_t

59) An ecologist measured the change in the mass of
decomposing plant malerial using the appropriate
Sl unil. The unit that the ecologist mosl likely used
to measure the mass was®

A day - ot S\

(Bilogram. = P AASS

C.lter, - MEASUres volunnag
D. pound.— no+ s\

62} Zooxantheliae are protists thal live ingide
reaf-building coral polyps and provide the corals
nutrients, Corals protect zooxanthellae and ghe
them access to light for photosynibesis, When most
of the zooxantheilae inside corals die, the corals
also die. Zooxanthellae living in closely refated
coral specles may not be closely related, while
zooxanthellae living in distantly related corals may
be more closely refated Which description of the

lationshl and corals is

Iucunh? :

A. It isachance p that occurs freq
only if both types of organisms exist close

together.

B. It is & chance hip that accurs freq Iy
b are on coral
reefs.

C. it is @ symbiotic relationship Ihat most Bikely
evolved on coral reefs in 1 geographic lacation

.! s a symbiotic relationship thal mos! ikely
evolved an coral reels in a number of
geographic localicns,



63) An o:pecltel is 8 bird thal uzualiy feeds on
parasi
leks acam oﬂ the rinoceros's back and drinks
ood from the wounds, Describe the relationship{s)
between (he oxpecker and the rhinoceros

A. Mutualism only
B. Mutualism and predation
utuahsm and parasitism
. Mutualism and commensalism

65) For years, runcff from 8 nearby Indusirial plant has
enfered a certain lake The runoff causes seasonal

biooms of algae in the lake. These aigae are
short-lived and die off quickly Which of the
following graphs mos! IMI'{ Hlustrates the growth
paitern of Irutnlonl population from the ning
of the spring ssassnal bloom Lo the and of the
resultant cie-off ol the algal population?

M

e tima

wuuumm

74) Which energy pyramid accuralely represenis the
amount of energy in a desert food chain ncheding
cactus, hawk, Insect, and snake?

A,
A roducev

/ imed N\ vipt OoN
/_make N\ boiHovn
Ko itk SN

—linsect does
/ hex_ N\ MNOT Feed on
/e N\ A sniake

89) Which functional group TaURE In amInG acKs 15
absen! from monosaccharides, polysaccharides,
fatty acids, and glycernl?

A -coo ~Carboxy |

(8)-nH, —AinD

C.-OH - HYydroxy|

D. -POi = Phpsphate

92) Hummingbirds transfer pollen from one flowar o
anather white teeding. Vwhat plant structure
contains the pollen?

A. Carpel

B. Petal

C. Sepal
amen

93) The cytoplasm of red blood cells has a higher
concentration of Na® than does pure waler.
Suppose 8 biclogist places s red blood cell in pure
water, s there 2 nel fow of water molecules into or

att of the red blood cell, and by which process
does this net fow of water occur?
A. Out of the cell, osmosis
nto the cell; osmosis
C. Out of the cell, active transpon
D. Into the cell; active transpont

red plood
cel

wWater

6] Whal combines wilh sugar and a phosphate group
ta form a nucleolide?

A. Amino acid

B. Dexytitase

C. Chycerol
N;trogenoun base

87} In humans. pigmented “m\:\THMImm ta non-

3R tndividual with albinism? n Drdcr +°
A, Carried Shﬂw recess |v‘

B. Heterozygous
Homarygous aominant
[omazZygous recessve

08) Suppose Conddtion 4 s an autosomal recessive
trail that affocts the narvous system In one lamily,
the father, matner, daughler, and elder son do not
have Condition A, b the younger son has
Condtion A Both of the individuals in which of the
following palrs MUST be camiers of the Condition A&

g Aa Aa
A. Father and eider san

8. Mother and daugnter

C, Daughter and elder son

+raid, Mus+
lhave aa

tnmnomh" A- A_ aa

@9) Cystic fibrosis is @ genelic disease n which excess
mucus accumutates In the lungs and digestive
system of affected indhviduals. Males and females
musl inherit 2 alleles with this mutation Lo have the

— produ (e
not+ on
bottom

a4) l'm dia, m;h:m » :v:hmc"l‘u“ml mm‘?“eﬂ ?;l‘ Arovels Fr Dwm
lipid bilayer with a channel pretein. Ea %
n e uun‘zlh- :llrl:lll of molecule inside ot i ‘3"‘ H \o
outside [he cell Faciltaled diffusion moves these  yalvy o W i

happen 1o

lime

66) Collectively, all the blolic and abietic components in
mcu?! area are best described as which of the
ng
Community
cosyslam
C. Niche
D. Population

') Consider the followinn simple lake food chain.
Algae — Mostlito larvae — Dragonfly
larvae — LA
According to this diagram, which of these
organisms is a tertiary consumer?
Pike
Perch
. Dragonfly larvae
D. Mosquito larvae
31 A lepﬂnl pnm ‘had a serious bacterial infection
thal required trealment with strong amlbm: The
patient recovered from the infection,
experienced side effects, including ml
eclions and ive problems VWhal is m most
probable reason for the side eflects?
A. The patient expenenced an alergic reaction to
ihe nﬂblolimp' g

B. !'h.‘rlnnl had rot fully recovered from the
@:’ antibictics killed bolh harmiul and beneficial
cteria,

an overg aof

D. The
beneficial bacteria.

g / snaka N
i o
across the cell
79) Using the graph, delermine which statement mesl
ety aucn%ol the rnwlon:r;?.bemnn the
am

Available lo the popuiation
Organlsm Population
carrying capaclty

@;here are adequate resources (o suppor this
able population

B. There are adequale resources 1o suppor this
unstable population

€. There are inadequate resources i suppor this
stabie population.

D. Thera are inadequate rescurces to support this
unstable populalion

82) When the pH in a stomach increases from 2 fo 4,
how does the hydrogen ion concentration chlnge?

A. It increases by a factorof 2 * Ean -PH

B. Il increasas by a factorof 100. ¥ CPY@SENtS oU
C. It decreases by a factor of 2 C-hang e b ¥
@u decreases by a factor of 100. 1O

88) In aerobic re lion fd se (CoH1:0s) combines
with oxygen ( carbon dioxide (CO;) and
vialer [lv-} t is the balanced chemical
equation lor this reaction?

A. CgHy30p — CO; + H;0

B. CsHiz0: + 6 O; + B H:0

C. CeHiz08 + 03 =+ 6 CO- 46 H;0
@C.H,;{). +60; 2 6C0;+6H0

% = molecule
In what direction do thase molecules move and

through which structure?
@Mn the cell through the channel protein

. Into the cell through the phospholipid bilayer
€. Out of the cell theough the channe| prolein
D. Out af the cell theeugh the phospholipid bilayer

95) These diagrams represent different stages of
animal cell division

R c?

From start fo finish, whal is the correct order of the
stages?

PMAT

disease. What Is the moda of inheritance of cystic
fibrosis?

A, Autosomal dominand
Mdoiumul recessive
C. Sex-linked dominant
D, Sex-linked recessive

104) Plant cells confain both 3 cell wall and a cell
. Whal is of the cell wall,

and where is it Ioul:r:m relation to the cell

membrane?

A. Cellulose, inside the cell membrane

@ Cellulose, outside the cell membrane
. Glucose, inside the cell membrane

D. Glucose, outside the ceil membrane

107} The aerobic and anaerchic pathways of cellular
respiration reguire which products of glycolysis?
A. NADH and ATP
B. Pyruvale and ATP
@Pyruvate and NADH
D. ATP, pyruvale, and NADH

111} A single mitotic division of a human skin cell
generally produces:
2 cells, each wilth 1 complete diploid set of
chromasames,
B. 2 cells, each wilth 1 complete haplold sel of
chromosomes

C. 4 cells, each with 1 complete diploid set of
chromosomes.

D. 4 cells, each with | complete haploid sel of
chiomosomes.

lgl_i‘l-os s

L

©

@«



114) During molaphase | of melosis, which of the
loowing pecurs?
A, Cenl ch lane up
nlong the cell’ . tqua tar
B, Sister chvomatids separate and move loward
cpposite poies of me call
alred rmmolugmu chromasomes line up along
he call's equalor
D. Homalogous chromosomes separale and move
toward opposite pales of the cell

115) Tha manner in which chromasames separate into
gametes during melosis is the molecular
mechanism behind which of Mendeis laws. il
wither?

A. Law of independen assorimen! only
B. Law ol segregation only
@Eolh the law of independ nt assarment and tn
law of segregalion

D. Nedher the law of independent assartment nar
the law ol segregation

116) Two black guinea pigs bred and produced 3 biack
offspring and 2 albing offspring Asauming no
mutalions, Mueh guines pigs must be
heterozygous?
A. All 3 black offspring
B. Exactly 2 of the black offspring
C. Both albing offspring
@Bnlh porents

118} Alkaptonuria Is a genatic disorder of protein
metabolism.

The disorder is determined by 2 alieles at 1 locus.

Koy
(0 unafected female
1 z [[] unaffectad male
@ =flosted female
W effected male

3456
What is the geno far individual 1 in the
diagram? SoImErpe

19) A trisomy of chromosome 21 causes what
condition?

A. Albinism
. Dwarfism
syndrama
D. Coler blindness

120) Lazzare Spailanzani and Louts Pasteur bath
periormed experiments hoping to disprove the
hypethoua that arganisms can farm by
spontanecus generation. Which of the followng
flasks was included In Pastews’'s experiment that
was NOT included in Spallanzanis?

eh Nask that allowed air to entar but did not allow —

.mcrnmpm:.ml o enter C urve d
B. A Nask that did not aliow ulrto enter bul o necig

alkw microorganisms to ante _‘-—\I a s KS

€. A Mask thal allowed neither air to énler nor
mictoorganisms to enter

D. A Rask that allowed balh alr lo enter and
microorganisms to enter

121) John

neols generation He voilea :nrlcken bmm
a ced il in & sterlle flask, and then sealed the
task_ Afer 8 few days Needham observed
migroorganiems in the Bask Based on current
how was his Tavved

A. Bolhng activated dormant microsrganisms
present in the broth,

B. Bolling the broth did not kill all microorgansms
present

C. Microorganisms entered the broth from the fask
itself afler the Aask was sealed

Rer Needham boled the broth, mecroorgansms
entered ffom the air

125) The process that is most direclly responsible for the
majority of the ATP produced dunng aerobic
ftespiration is which of the following?

A. Fermentation

B. Glycolysis

C. Krebs cycle
leciron transpon

126) While i g yea 1
detects ethanol in the '_reut cullura Whu:h
malecules does the yeast culture also contain?
A. Laclic acid and ATP = WO wldn 'ty be )
B. Oxygenand lacticacid W< 11T €thano

arbon dioxide and ATP— Al LOND U
D. Oxygen and carbon dioxide fermend o
133) Keisha passes a local dalry farm that has many
brown cows, but only a few white cows. A dominant
aliele produces brown haif In cows and 8 recessive
aliele produces white hair. Which characteristic of
any brown cow can Keisha identify?
A, The genotype of both of the cow's parents
B. The genoiype of the cow's hair color
€. The phenotype of both of the cow’s parents.
Th-c phenotype of the cow’s hair color

OISR LU NS LU L

st 2nd prsition 3
postnn | U [+ A G | postoan

Pha | Ser | Tyt | Cys
v P | Ser | Tyr

Leu | Ser | Stop | Stoo
teu | Sor | Stop | Tm

Leu | Pro | His
c Leu | Pro | His | Ag

Lou | Pro | Gin | Ag
Lou | Pro | Gin | Ag

Be | The | Asn | Ser
A Bo | Thr | Asn | Sor

Be | Thr | Lys | A
Met | Thr | Lys | A

Val | As | Asp | Gl
Asp | Cly

t
Vo | |G |

GrOC |o»nNC | O*0c| a>»0c

134) Which of the following mRNA sequences codas far
valine {Val), glutamic acid {Glu), and serine (Ser),
respectively?

A. UGG-AGG-CUA
B. GUA-GGG-AGC

E)suc-garacu

D. GUG-GAG-AGC

135) The mRNA sequence ACU codes for the amino
acid Thr A mulation occurs, and the resulting
MARNA sequence is AU What amino acid will
replace Thr 7
A, val

. Met
e
D. Ala

136) Who helped disprove the idea of spontan neaun

from fiy ms’am NOT from -:;a[n :
rancesco Redi —@ R ED 1 =re d meat

B, John Needham
C. Lazzaro Spaflanzani
D. Louis Pasleur

140} [7 coho saimon, hocknose males are large and jack
males are small. Avarage-sized males exis), bud are
rateWhat stalement bes! explains disruptive
selection in male caho satmon?

AL .lnr;sl-llhd males reach the spawning
ground first.

B. The scent of avarage-sized males makes them
most attractive 1o females.

C. Hooknose males produce stronger sperm then
[ack males or average-sized males.

D. relative size of hooknose males and fack
les is an advantage during mating

141) Holll lh.lltbn fossils indicale that the size of

ased over ime Which statemenl best

ex HI'HI this fossil record?

A. Smaller horses bred with larger harses, creating
hybrids

B. Smaller horses were huclnu by a fatal virus
«ary In Ineir histary.

C. Larger horses consumed the food supply of the

smaller horses,
‘@ arger horses produced a slightly greater
.nuglm of surviving offspring 4

okganisms best suted
o The environmant
SLLY\“VE.
1

w

L

Pass genes 4o
o¥fspring

e
nrrmn'\es lnat are :sse'\rul 'ot I'!a !r.,utlhor ef
the human repreductve cycle?

Circulatary
(?E ndocgine
. Immune
D. Hervous

164) Alec studied an unknown microscopic. uniceliular
organiem and recorded his observations He
thal the crganism had DNA, ribosones, and a cell
wall, but no nucheus of other membrans-bound
organelles Based on Alec’s cbservations the
organtsm would be best clagsitied 22 8

A, virus.
B. profist
C. lurgus
aclerium

165) The organiems ol whal kingdam possess these
traite?

+  Eukaryotic cells

s Phatosynthelic

»  Celluiose ceil walls
A, Eubacteria

Fungl
lantas
. Moners

168} Whal is the path of deaxygenated blood a5 it enters

a d-chambered heart?
veha Cavag
A. Pulmonary veln — left atrium - lef ¢ n
ventricle - aora ve i ns L d] Q.‘..
B. Pulmaonary vein — right alrium - left
atrum —» aorta . sernd wlood
C. Vena cavae — right atrium ~» left
alrium —» pulmonary artery bads to
(O simmsim wran e weart
Ve e —+ pul
Fron hra
170) Lions and ng“ s both belong 1o the genus b (=] d"f
Panthera, Cheetahs belong 1o the genus cnanyy.

Scientlsis group these 3 types ol cafs together at
the next most inclusive taxonomic level Which of
these laxonomic levels do lions, figers, and

cheelahs have in comman? K l‘F +h &\i

1. Class
e P have
A. 1 and Il only g‘lags ;amﬂ\‘ "1
and i onk w
@I anﬂl::tnn:; =3 amil " wmm i

0.1, 1 and il in
180} Based on thelr Icurmﬂc n-mos g?oﬁu es c ‘as.f

Eroayps s+
most likely correct? The 2 organisms belong o .
A, the same species MO b" *I'
1he same genus [,oﬂqmow
. different phylums
D. different kingdoms.

181) The prod which of lhe
hormones?

Insulin and glucagon i E
. Oxylosin and prolactin = P 1 +ﬂr!
C. Estrogen and progesierone — © varies
D. Epinephrine and norepinephring a hm u y
wadadda, 1N
182) Which physiaiogical system Includes the ungs. wi d..n.ud s

lrachea and pharyn

A. Endoerine > Conn ects
B. Nervous nose oJ 1dd
Reproductive Wgo et 1o
@R.lpi!llnl,' soph%w



DRMGNE33 13 8 ECARNVE, A-NINED Al e
and alleles inted wilh this Iy pe
of enlor blindnass are represented in thes chart

X = X chromosome

¥ =¥ chrmosome

B = allwle for normal cokor vision
b = abele for color bindness

Which of these could NOT be 3 WICBI af
parants having the genotypes X Fiaird

A, Color-blind son

Color-blind daughler

Daughter with normal eoler vislen
D. Son with noimal colot vision

95} Thll snaam shows 3 generations of a famity in
some mambers &xhibit & partcular X-inked
!'c-uslu trait
[ rmter wthoust draut
10 temal wllwout o
W made wnth bt
@ Ionaks wih brait

T‘”BTJ“ xl\
n

e
0o o2 # s L E]

The 2 females In whkh owing pairs mus!
have the same genclype?

p A arvied inte family
. Tand 11

@Gamﬂs
. 10 and 14

L} .ﬂn tntomolnnlut identifed & new species of beelle
ulh American rain forest. The beetie has afl
1M mluru of the aollling beetle
i other darkling

beetles of the genus Tenebria. Whal should the
entomologist do neat?

A, Give the beete new genus and lamily names

Q ive the beetle 2 new species name nal used in
he genus Tenebrio

C. Hame the beetie after the species It is most
similar to,

D. Discard the bestie becauss it s not found in
axisting taxonamy.
97) How do enzymes speed up chermical reactions?
@\r reducing aclivation energy
B. By reducing energy produced by the reaction
C. By increasing activation energy
0. By increasing energy produced by the reaction

ag) Whal trait of an ATP molecule enables it to store
energy for use by cells?

A, Its small size

B. Its solubility In water

C. Its ability to form hydrogen bonds
@ Its phosphate-phosphate bond

wabe
g
E—w
L)

womad i rgh
Baved on the graph, which species s

Bpprosmately g a8 fast a5 the cheetah? 13. 3

@Ehm:am'.‘.'ls 5 ﬁa.

B. Kangaroo
€. Lion -

D. Snake -h_
20%) In what kingdam would sclentists most likel 0
classity a multiceliular, nonmatile autolrophi
organism with a cell wall contalning celiulose?

A Animalia

B, Fungl
Plantae

D. Prousta

210) A scientist places a cefl in & solution_and over time
ihe cell gains mass and swel's. What is the most
likely explanation for the cell's gain in mass?

The sclulion is hypertonic to the cell.
e The solution is hypelonic 1o the cell.

€. The solution and the cell have equal
concentralions of solules.

D. The solution and the cell have equal
concentrations of water.

223) T

"nlmonlrv relationshins of u\mul on nt species

wateyr moves
from ‘I’llgh 4o low
wnca-nfra.hon So
SsoluHD i5 hypotonic

el : 7 5l e.nshnO&

A g 1o the which of the o
specios s the most mwm common ancesior lo
Species A and Species

A. Specles J
B. Species M
C. Species G
Species F
224) The the p
l:nlsti}rmnlry “reiationships of several extant species
[
A n L= i F
o
H
G
F
= i i e Epetien By D
wcles is mosl closely rolated to Spacies .
ésp&cie:}\—ﬂ bcl..A\kSc M navL
" Species © oS & reew ¢
€. Species D nmon on wstor
D. Specles E o Lo,

Adenine —Ribose - Phasphaie ~Phesphade ’F Prosphate

Ng‘wﬂ-
en'e.?'s ¥
bond



